25408[E  EMNAEE

1.|x*2 % 21+ 2342224 x+1 TEHo 2L XDORY ERD &,

200 a4l = (P4 NP+ ]) =0 LB, 2= o, w2<w= _H__Zﬁz>

202 % (k24 1)(x2 424+ 1) TE- /2L XDEE Q(x), RV E ax+bx’+cx+d (a, b, ¢, dIFFEH LB,
202 = (x24-1)(x24+24+1) Q(x) + ax®*+bx2+cx+d D

Oizx=i 2BRATD L, i*=ai’+bi’+ci+d

i2=—1, d=—i, iM=(i)M=(—1)M=_1CThHznd, ..—l=—ai—b+citd
ERBOWEE LY, —a+c=0 @, —b+d=-1 B

Qizx=0w 28AT2E, 02=qgo’+bo’+co+d

0i=1, 0™=(0%"=1, 0’=-1-—0 THE,5, . l=a+b—-1—w)+co+d

EERBOEELY, —b+c=0 @, a—b+d=1 --®

O~@rEIETHL, a=b=c=2, d=1

oT, RDBIKRVIE, 2x3+222+2+1 B

2. [2022 ENSHEES n EOBEBOFNS 1EERE, HIEFHETS L 20622 A7, BROLEEEZRDE,

#E  nEDOEBEERD LS ITIEND,

2022, 2023, ---, 2021+ n

BRSARER 2021 +m B, 1=m=<n ---OTH5,
S, 2062.2 =2021 +52.2 ieB,

1
7n(n+1)—m 1

wRepy, UHettm—m g0 2 g1
n—1 n—1 5

5n2—407n +412

mAZDOWTHES &, ~om = 10 )

ZNEOIRATSE, 1< 5”2_4%“412 <n

1] 1§5"2_4(1)(7)”+412 XY, (n—1(5n—402)=0 .. <1, 80+%§n )
2] 5”2_4(1)(7)“412 <n &b, (n—1y5n—412)<0 .'.1§n§82+% @

n IXEEDEHTH DM, @, @LY, n=81, 82
n=8lDr%x, @V, m=25 ZDOr%, RKOAFEBIL 2021+ 25=2046

n=82 D%, @k, m:%g ()

£oT, BROFRIE, 2046



N DN | R T A LTSI LS < x> TETEE, 3

1 .
—— DfEERD L,
2 s M % kD &

@B <Yn>=arplr, a—%<%<a+% R

l>4<% <<a +—é>4 (D

&Nk 4 FTDL, (a_ .

1\4

ZZT, <a——> :a4—2a3+3 2_ 1 L

1
7& —704‘% =

1
— 49,34 a2 Lo
a*—2a°+a +2a(a 1+ 16

2
[EIRRIC cH—l 4=a4+2c13+c12+la(a+1) L
’ 2 2 16

%a(a#—l) EHZNS, OXY, a'—2a°+a +%a(a H+1=Z=n=<a*+2a%+a +é ala+1)

CORER &= n OIEEU,
a'+2a3+ a2+%a(a+l) —{a'—2a3+ az+%a(a—l)+1 I+ 1=a(4a?+1) --.©@

1

XT, 65'=1785.0625, 7.5'=3164.0625CHa Mo, <a—2

><2022<<a+ >é{ﬁfjé§&ati a=7

202 1 61 1 2827
£-oT, 3 —+ =3 —Xalla®+1)+ 2 4>< <6-7-13+6+—= (2022 1786+ 1) = — B
st J(k) a=1 4 £=1786 (k) 6 7

1.54=5.0625, 2.5*=39.0625, 3.5*=150.0625, 4.5*=410.0625, 5.5*=915.0625, 6.5*=1785.0625,
7.51=3164.0625TdH B 5,

<¥Yn >=a kb n DEDEEIZOWTIENDS &,

a=10Dr%, 1=u=<54Y, 51@

a=2NDt%, 6=n=<39 &V, 39—6+1=341#

a=30Dt%, 0=<n=<150 &Y, 150—40+1 =1111&

a=4 0Dl %, 151=n=<410 &Y, 410—151+1 =260 {@&

a=50Dk%, 411=n=<915 &V, 915—411+1 =505 {@

a=60Dr %, 916=<n=<1785 &V, 1785—916+1 =870 &

a=70DL%, 1786=<n=<2022 &V, 2022—1786+1 =237 &

0:;
Sl x5 lusr Lyt T X260+ £ ><505+1><870+ X 237 = 28727 &

J:’)’Cklf 5 3



v BRI kOB (1) TRTEE, S OfEERD L,
i=1 [VE]

R
2¢=16, 34=81, 4'=256, 5'=625, 64=1296, 7'=2401 THdM5,
(Yn)=a L7323 n DIEDEEIZOWTHNS &,

a=10t%, 1=n<15 &Y, 151

a=2NDt%, 16=7n=<80 £V, 80—16+1 =651#
a=3NDt%, 81=n=<255 &Y, 255—81+1 =1751@

a=4 D%, 256<n<624 k), 624—256+1 =369 &
a=5MDt%, 625=n=<1295 £V, 1295—625+1 =671 1#
a=6 D&%, 1296<1n=<2022 &Y, 2022—1296+1 =727 @&
1

202 1

1

0T, ¥ — = 1X15+%X65+§ X175+%X369+%X671+—X727 =
k=1

f(k) 6

9069
20

(2021/12/12

&

Ta—h—)




